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QUESTION 1

Which statement is true about interconnecting Virtual Cloud Network (VCN)? 

A. VCNs support transitive peering. 

B. Peering VCNs should not have overlapping CIDR blocks. 

C. VCNs must be in the same tenancy to be peered. 

D. The only way to interconnect VCNs is through peering. 

Correct Answer: B 

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Network/Tasks/remoteVCNpeering.htm (note) 

 

QUESTION 2

For what business need should you use Database Cloud Service (DBCS) instead of Oracle database on a compute
instance? 

A. to bring your own license on a compute service 

B. to lower license and infrastructure cost 

C. to implement Oracle RAC for high availability 

D. to build an Oracle database on a compute service 

Correct Answer: C 

 

QUESTION 3

Which two resources reside exclusively in a single Oracle Cloud Infrastructure Availability Domain? (Choose two.) 

A. Identity and Access Management Groups 

B. Object Storage 

C. Web Application Firewall policy 

D. Block volume 

E. Compute instance 

Correct Answer: DE 

Availability Domain-Specific Resources DB Systems ephemeral public IPs instances: They can be attached only to
volumes in the same availability domain. subnets: When you create a subnet, you choose whether it is regional or
specific to an availability domain. Oracle recommends using regional subnets. volumes: They can be attached only to
an instance in the same availability domain. 
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QUESTION 4

Which two statements define the types of DNS resolvers that exist? (Choose two.) 

A. A custom resolver allows instances to use the host names of the hosts in your on-prem network that are connected to
your VCN by an IPSec VPN connection. 

B. A VCN resolver allows instances to use the host names of the hosts in your on-prem network that are connected to
your VCN by an IPSec VPN connection. 

C. A VCN resolver allows instances to use host names to communicate with instances on other VCNs in your tenancy. 

D. An Internet resolver allows instances to use the host names that are published on the Internet. 

Correct Answer: AD 

https://docs.cloud.oracle.com/iaas/Content/Network/Concepts/dns.htm This is an Oracle-provided option that includes
two parts: Internet Resolver: Lets instances resolve hostnames that are publicly published on the internet. The instances
do not need to have internet access by way of either an internet gateway or a connection to your on-premises network
(such as an IPSec VPN connection through a DRG ). VCN Resolver: Lets instances resolve hostnames (which you can
assign) of other instances in the same VCN. For more information, see About the DNS Domains and Hostnames. By
default, new VCNs you create use the Internet and VCN Resolver. If you\\'re using the Networking API, this choice
refers to the VcnLocalPlusInternet enum in the DhcpDnsOption object. The Internet and VCN Resolver does not let
instances resolve the hostnames of hosts in your on- premises network connected to your VCN by IPSec VPN
connection or FastConnect. Use your own custom DNS resolver to enable that.
https://docs.cloud.oracle.com/iaas/Content/Network/Concepts/dns.htm?Highlight=DNS%20resolve r#About 

 

QUESTION 5

Which two Oracle Cloud Infrastructure database services allow you to dynamically both scale CPU and storage?
(Choose two.) 

A. bare metal DB system 

B. virtual machine DB system 

C. Autonomous Data Warehouse (ADW) 

D. Autonomous Transaction Processing (ATP) 

Correct Answer: CD 

If a bare metal DB system requires more compute node processing power, you can scale up (increase) the number of
enabled CPU cores in the system without impacting the availability of that system but you can\\'t increase the storage If
the original DB system VM shape uses a single node, running databases on the DB system nodes are sequentially
stopped and then restarted on the new shape so not dynamic 
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